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(2-1)

EREREEERERERERE
- mainl] O] O [

/(;}nclude <stdio.h>
int main(void)

return O;

00000000000 (1)
int n0,n1,n2,n3,n4,n5;
Iint n;

000000000000 (2)
scanf("%d",&n);

{
0000 00000000000 ((3)
L] ngz(n/lOO)%lO;
00000 n3 = (n / 1000) % 10;

JO000odotonnd4)
printf("%d %d 0O 0O 0O0);

scanfU OO0 O00onon
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(2-2)

check_digit main

/(;}nclude <stdio.6;\\

{

N

int main(void)

0004
[
00034
return O;

/

00C-2)0000000

/i;;nclude <stdio.h> \\\\

(] O check digitl] [ [

int main(void)

1
0000

. /
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(2-2)

//;;;CIude <stdio.h> \\\\\

[ U check _digitd U [

int main(void) main0 0000 @-)O000000

{ 00000
char cd; charld - p.6
0000

cd = check digit(Q OO D0); Jouuuuy
printf(""%d %d %d %d %d %d %c¥n', %cl U 00000
n5,n4,n3,n2,n1,n0,cd); Odood

return O;
=
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e Visual Studio
1. Visual Studio (2-2)

2. Visual Studio (2-1) p
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1. Visual Studio (2-2)
2.
(2-1)
.C (2-2)
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check digit

DDIDDD DD?DD 00000000 -p.8
y

v
//;har check _digit(int n5,int n4,int n3,
Int n2,int nl,int n0)

o1l

1
charcVDDDDDD Doooddd -p.9

int m;

HREREpEEN
nsOn0U 00000 oodoooddn

o000 0cdbOO0ooon

HRERERERE
return cd; «——— cdUJ OO O OO O0OOOOO OO

J J
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m=(/*n5 0 6*nd4 OO 5*n3 O 4*n2 O 3*nl O 2*n0) % 11;

It ((m==0) || (m==1))

cd = "A";
else 1If (m == 2)
cd = "Z%;

else 1f (m == 3)

Jo0o0oodn

else 1f (m == 10)
cd = "B";

switchO O oo
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char (p.6)

128 127
C — IAI;

2 0

oot
J"0ddooboogdddng
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. sgrt sqrt

_ 0000000sqrt00003000000
Y ={sart(3)} pooooooo1.73205080 00000 00
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Joooo ouo@uoooot)
{

HREpEpEEN
L]




y = sqrt(3); //
//

sart(y), /1y
I

sqrt

00000000 0O0oobOo0 Obo 19



0000000o0bOoooo ooo 20

(P.7)

oottt

OO00Oo0o0odn
#include <stdio.h>

int mul(int a,int b)
{

}

int main(void)

{

return a*b;

printf(""%d¥n",mul (10,20));
return O;

}

OO00Oo0o0odn
#include <stdio.h>

int mul(int a,int b);

int main(void)

{
printf(""%d¥n",mul (10,20));
return 0O;

¥
int mul(int a,int b)

{
¥

return a*b;

Juoogdbobootgdood
oot
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(P.8)

{
00000000000 intd
! ’/////’ﬁDDDDDDDDDDDDDD
: . O0000000gadbOoOOO
{ 00
Nt c;
c=a+bhb;

Jdboboobbotgdd

return ¢, Jooddooddbod
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(p.8)

void add(int a,intb) OO 00O Ovoid

{

g_result=a+b;, returnooooooon
! o000 0000000
return;

g resultt 0o ogn
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(p.8)

void add(void) 00000000 void

{

g_result = g operandl + g operand2;

g _resultl]l g operandl,
g_operand?
00000 goon

0000000  add();
Jadd;0 00000



